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I. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is 

pronounced differently from that of the others in each group.

Question 1:A. nature B. manage C. balance D. campfire

Question 2:A. charity B. school C. childless D. teacher

II. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose main stress position 

is placed differently from that of the others in each group.

Question 3:A. contest B. fortress C. astounding D. setting

Question 4:A. consumption B. consequence C. neighborhood D. atmosphere

III. Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in meaning to

the underlined word.

Question 5: Global warming may lead to many negative changes, including harsher weather conditions.

A. more unbearable B. milder C. more extreme D. more serious

Question 6: The United Nations has declared the celebration of the International Day of Ecotourism, to 

promote sustainable practices in this growing industry.

A. favour B. raise C. boost D. delay

IV. Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to 

the underlined word.

Question 7: You can see different kinds of rare animals in this park.

A. priceless B. half-cooked C. unlimited D. limited

Question 8: When you take part in an eco-tour, you learn more about the cultural traditions of the local 

people and the natural habitat of some rare animals.

A. participate B. conduct C. enjoy D. depart

V. Mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that 

completes each of the sentences.

Question 9: We’d better set off ten minute early __________ there is a lot of traffic.

A. so that        B. as if           C. in case        D. although

Question 10: There's has been a steady rise in the average temperature around the planet over the last 

hundred years or so, and the majority of scientists put it ____ to human activity.

A. down B. back C. up D. across

Question 11: There will be ____, too. Some areas will become wetter while others will become much drier.

A. weather changes B. weather forecasts C. climatic changes D. climate changes



Question 12: There’s no point in______ to study if you feel tired.

A. trying B. will try C. tries D. tried

Question 13: It is predicted that over the next few decades many species will die ____ as once fertile areas 

turn to desert.

A. off B. out С. up D. down

Question 14: The roof needs __________. You’d better have it done as soon as possible.

A. to repair B. repaired C. repairs D. repairing

Question 15: University students are willing to get involved in helping the old and ____ people.

A. childlike B. childish C. children D. childless

Question 16: To the one __________ feelings for me are so strong that the word love can’t describe them.

A. who        B. whom        C. whose        D. that

Question 17: Most of the students in that special school are making good progress, but Michael is a ____ 

case.

A. hopefully B. hopeless C. hopeful D. hopelessly

Question 18: ________________is the act of cutting down or burning the trees in an area.

A. Forestation        B. Deforestation        C. Afforestation        D. Reforestation

Question 19: “Thank you very much for helping the disadvantaged children here!” - “____”

A. What a pity! B. It’s our pleasure.

C. Sorry, we don’t know. D. That's nice of you!

Question 20: “Do you mind if I have a look at your project on community development?" – “____”

A. No, not at all. B. Yes, it's a good project.

C. Yes, you're welcome. D. As quickly as possible.

VI. Mark the letter A, B, C, or D on your answer sheet to indicate the part that is incorrect in each of 

the sentences.

Question 21: They complained that there isn't any fresh water in the local area.

A. complained B. the local area C. fresh water D. there isn’t

Question 22: The film was so bored that all the audience had gone home before it ended.

A. bored        B. the audience        C. had gone        D. ended

VII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the

correct word/phrase that completes each blank.

The way you dress will cause people to form opinions about you, (23)_______ their reactions to it will 

be diverse. Decide what you want to convey before you choose an outfit.

It might be (24)________for you to fulfill other people's expectations at times. Most managers in charge of 

companies have a firm vision of the kind of (25)_______they wish to cultivate. Your attire should reflect 

those ideals if you wish to be successful in those industries. The same holds true for public speakers; 

listeners anticipate that they will dress appropriately for the event. We think society is making progress 



toward recognizing people's inherent uniqueness and celebrating (26)_______of thought and expression. 

What you wear can still give people hints about your (27)________and the way you act. What you wear 

does convey a message, no matter how true or false that message may seem to you.

Question 23:A. because B. moreover C. even though D. until

Question 24:A. comfortable B. potential C. sophisticated D. beneficial

Question 25:A. reputation B. compliment C. advertisement D. direction

Question 26:A. availability B. diversity C. depression D. improvement

Question 27:A. controversial B. popularity C. immunity D. diversity

VIII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate 

the correct answer to each of the questions that follow.

According to studies conducted by the World Health Organization (WHO), more people die from 

pollution from vehicle exhausts than from car accidents. Road transport is responsible for one-third of the 

harmful air pollution. Additionally, the study found that in the three countries (France, Austria, and 

Switzerland), long-term exposure to pollution causes around 21,000 premature deaths per year. This number

is significantly greater than the 9,947 fatalities recorded that year due to vehicular accidents.

The researchers also found that 15,000 children were admitted to hospitals with worsened heart disease 

due to pollution, and 300,000 children were diagnosed with bronchitis as a result of vehicle emissions. They

determined that 27 billion Euros was the annual cost of dealing with all of this. Spending on vehicle safety 

features outweighs efforts to reduce air pollution.

Question 28: What is the main idea of the text?

A. Pollution and road accidents.         B. Bad effects of car exhausts.

C. The necessity of making cars safer.         D. The toll of road accidents.

Question 29: According to the passage, ____________.

A. Air pollution causes more deaths than road accidents.

B. Road accidents cause more deaths than car fumes.

C. Long term exposure to pollution is harmless.

D. Car fumes cause one third of premature deaths.

Question 30: The money spent to solve air pollution is ____________.

A. 27 billion Euros per year.      B. not able to calculate.

C. more than to make cars safer.         D. less than to make car safer.

Question 31: The word “diagnosed” in paragraph 2 is closet in meaning to______.

A. testing B. dealing C. telling D. booking

Question 32: Which of the following is NOT true?

A. Car exhausts cause bronchitis and heart disease.

B. Car fumes cause one third of all harmful air pollution.

C. Each year road accidents cause 9,947 deaths.



D. More people died as a result of air pollution than road accidents.

IX. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in 

meaning to the original one.

Question 33: Although he lives far away from the office, he cycles to work.

A. He doesn’t live near the office, but he cycles to work.

B. He goes to work by bike in spite of living far away from the office.

C. Living far away from the office makes him cycle to work.

D. He cycles to work despite the fact that he doesn’t live near the office.

Question 34: "I'm sorry I couldn't come to your birthday party last Friday, Jane," Bod said.

A. Bob is sorry for not coming to Jane's birthday party last Friday.

B. Bob apologizes for not coming to Jane's birthday party last Friday.

C. Bob makes excuses for not coming to Jane's birthday party last Friday.

D. Bob wishes to come to Jane's birthday party last Friday.

Question 35: I advise you not to tell him the truth.

A. You’d better not to tell him the truth.

B. If I were you, I wouldn’t tell him the truth.

C. You shouldn’t tell him the truth.

D. It’s not worth not telling him the truth.

Question 36: ‘If only I’d learnt to drive,’ Roger said.

A. Roger thinks there are too many drivers on the roads.

B. Roger feels glad that he didn’t learn to drive.

C. Roger wishes he could drive.

D. Roger is sorry that he learnt to drive.

X. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is BEST written 

from the words/phrases given.

Question 37: concert hall/ so crowded/ I/ see/ hear/ nothing//

A. The concert hall was so crowded that I saw and hearing nothing.

B. The concert hall is so crowding that I seeing and hearing nothing.

C. The concert hall being so crowding that I seen and heard nothing.

D. The concert hall too so crowded that I to seen and heard nothing.

Question 38: electric light/ invent/ before/ I/ born//

A. Electric light has been invented before I am born.

B. Electric light was invented before I was born.

C. Electric light is invented before I was born.

D. Electric light had been invented before I was born.

Question 39: I/ regret/ inform/ you/ your application/ refuse//



A. I regret informing you that your application was refused.

B. I regret to inform you that your application has been refused.

C. I regrets to informed you that your application had been refused.

D. I regrets informing you that your application was being refused.

Question 40: If/ there/ no oxygen/ no life/ earth//

A. If there was no oxygen, there will be no life on earth.

B. If there is no oxygen, there would be no life on earth.

C. If there were no oxygen, there will not be no life on earth.

D. If there was no oxygen, there would be no life on earth.


